VR2-4-3-2 HIEFEAREICE IR EREVERVEERBDIEERE%E

(IR RER]

gy (o = |TERHERE[TEEEBE:

BEEEWE BARE1%) pg |TEEHESE TRSREEE
~AOAIFLY 0.002 —
Mgk kR 0.002 -
12-2/a0T8y EA 0.004 —
1,1-C4HO00TFLY 15 0.1 -
12-SYAATFLY i 0.04 —
1,3-oynn7axky ﬁ:ﬁ 0.002 —
SHOOARY i 0.02 -
FrS/O0TFLY =1t 001 =
111-kJyonxT4ay %f% 1 -
112-F)/00TAY B5C 0.006 —
rJHOOIFLY 0.01 -
Rty 0.01 —
ARSIV LBRUVZDIEEY 0.003 45
ANiEvaLiEEY = 0.05 250

TUAEEY 2 & Mg 72,50
KERUZDIEEY . 0.0005 15
7L ILKER s i =
LU RUZDIEEY =& 0.01 150
WRUZEDILEY = 0.01 150
MERVZDIEEY /. 0.01 150
SR RUZDIEED =1 08 4000
F5RRUZDIEEY 1 4000
DD, = 0.003 -
FASL AT Aae 0.02 —
FoTA ;‘@Ei 0.006 —
ARYEALE 7T =)L (BIAPCB) gh¥ it —
HEYALEY £ TR —




